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- Chemistry 11

Solution Chemistry Review

1. Define the following terms:
solution

solute

solvent

saturated
unsaturated
solvation

polar

non-polar

ionic compound
molecular compound
Vander Waals Forces
dipole-dipole force

H bond

london force
AMPHIPROTIC
Bronsted-Lowry acid
Bronsted-Lowry base
Arrhenius acid
Arrhenius base

2. Indicate whether the following molecules are polar or non-polar
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3. List the most important m-n MOLECULAR FORCE that exists between:

. 2 atoms of He in He (g) ' L‘O‘\fﬁdm %w_z&

a
b. 2 molecules of CH3CH3NH5 in CH3CH3NH»
¢. 2 molecules of CCly (symmetric) in CCly
d
e

. The atom Na and the atom Cl in NaCl (s)
. 2 molecules of CH3F in CH3F (I)

4. Explain why WATER is the universal SOLVENT:

Woke s the vniversal solvent becawst e s

, Cheap, not iarnamd

and, Non-toxc .

5. Compare and cgntrasi-the characteristic properties of Acids & Bases

6. Write the d|SSOC|tan|on|zat:on equatlons the result when the fo!lowmg
compounds are dissolved in water: -

a. Nab WN@&(@* ‘“‘eﬁ fb\ss@mfﬁ -y
b. HNO3 == W@‘wb + = (2q) [iovdn ﬁ#mfwaw‘l
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f. Cry(S04 )3 == ‘*&@ﬁ’*é@@p + 55@»7’ Cagy)
9. H3POy ey 5 H* ﬁi@\@w 4+ ?0(;% (ﬁﬁ) Dwu%‘?ﬂfm’l
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7. Write the dissociation equation for each of the following solutions, then
calculate the concentration of each ION in the solution:

a.0.18 M Hg(NOg), === HSW“ - E-N% ac- {ﬁ%
018MHGT . 030 M NOg

b. 0.35 M (NHg),S0, == Z. ™ HL&*’{(Q - 5%1%@%)

f 00 M NHG Y 0.35M SOyt

c.0.070 M Fe(ClOy)3 == F@%@‘@P A ‘g@\l%r(aﬁj
y o.clo™ Fe® 5 0.21 M CI0y
J

8. Calculate the final concentration of each ion when the following solutions are

mixed Mg%“% “E Wl

a.125mLof 0.20 M MgCIzmlxed with 375 mL of 0.40 M KCI x
0. 2OMY Q125 L Yo rentat ol bt KO\ — K + C)h
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b 40Lof0.25M CuSO4 mixed wnth 6.0Lif0.75 ﬁNa2804
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0. ZNifche - 0.40M Sbgq"
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CrBry = O™ «38" 5 (obry = G 4280

c. 300 mL of 0.3 M CrBrz mixed with 700 mL of 0.1 M CaBr,

0 IM%0-3L 09 My
/5 l@ L L j
QMK 0.3 - 02TMB"

1oL —b 0.3 ™M

9. What is the concentration of NaOH if 27.0 mL is neutralized by adding 35. [ ——

TEORERETET NoDH & HCL = NaCl + Hho
w %M ¥ 0 O35l= 0. @ng& M@@_ﬁ 0.6
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11. If 125 mL of 0.551 M H3POy is titrated to neutralize 50.0 mL of Ca(OH); ,
what is the concentration of Ca(OH),?

3 H,Poy ¥3CaloH), — CaPog); +othO
[y osnimlro st = 0.0688wmal Hty e 5M&(“l




FLASHBACK QUESTIONS: TITRATIONS!!!!

9. What is the concentration of NaOH if 27.0 mL is neutralized by adding 35.0
mL Of 0.500 M HCI? h

NoOH + HCOL —> Nall +H, ©
ODBSO L« p.500 mell HC! | e NaoH , Mo i
NeaOH

.07 10

unkhowt ] ‘ ,
10. If 35 mL disGa=g=e¢ H SOQ is titrated with 15.8 mL of 0.0928 M KOH, what is

the concentration of the g HZSO4?
U0, + kol —b KO+ THO

0.01SB & ,, 0.0926 mol kot sl HeSQ, _ _N.33x0” ok
% 2 ol kou 0.035 L
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11. If 125 mL of 0.551 M H3PQy is titrated to neutralize 50.0 mL of Ca(OH); ,
what is the concentration of Ca(OH),?

a0, +3Ca(ol), —H* (o (PO) + 64,0

0.025 1 x O-SStnal i, 3mlGlow)y - o, 102 mal (0N,
"4 Aol W90, O .0SDO L
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